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All work must be shown to receive credit.  Use dimensional analysis for calculations.

Avogadro’s Number = 6.022 x 1023/mol
1. (2 points) 83.5 grams of isopropyl alcohol were mixed with 59.5 grams of water.  Which substance is the solute?
2. (8 points) A solution is made by dissolving 25.4 grams of potassium carbonate, K2CO3, in 835 grams of water.  

a. Calculate the mass percent of potassium carbonate in the solution.

b. If the total volume of the solution is 840.0 mL, calculate the molarity of the solution

3. (4 points) How many milliliters of 1.53 M nitric acid, HNO3, are required to provide 20.0 g of nitric acid?

4. (4 points) If 36.3 mL of a 6.00 M solution are diluted to a total volume of 500.0 mL, calculate the concentration of the diluted solution

5. (2 points) Which would you expect to have a higher viscosity, propane, C3H8 or decane, C10H22?  Explain your reasoning.

